MANUAL OF INSTRUCTIONS

HIGH FIDELITY SPEAKER SYSTEM MODEL HFS 1

ELECTRONIC INSTRUMENT CO., BROOKLYN, NEW YORK



DESCRIPTION OF THE SYSTEM COMPONENTS

Tuned bass-reflex speaker cabinet (not a kit): Acousti=-
cally engineered, expertly constructed furniture quality
cabinet designed specifically for the woofer speaker sup-
plied. All visible surfaces are smooth=sanded, clear-
grained birch hardwood and no plywood edges are exposed

to mar the appearance. The frontof the cabinetis cover-
ed by a handsome acoustical grill cloth framed by a smooth-
sanded solid birch "picture" molding.

Heavy-duty 8" woofer: Response engineered for smooth
cross-over to tweeter. In bass-reflex cabinet supplied,
bass and mid=range areremarkably smooth, clean and free
of coloration.

Horn tweeter: The large radius and diaphragm mass of a
speaker adequate in the bass region are deterrents to flat
high frequency response. One of the best solutions to the
problem is the use of a well=designed horn tweeter, which
permits the use of a small, precisely controlled and loaded
diaphragm as well as providing very high conversion ef-
ficiency. The advanced design and the excellence of the
techniques used in the manufacturer of the horn tweeter
supplied in this system are responsible for the clean, crisp
extended highs, free of coloration orartificial brilliance.

Tweeter Level Control: The furnishings of a room and the
position of the speaker system will effect the intensity of
the high frequencies relative to the low frequencies at the
position of the listener. Personal preferences also exist
as to the most desirable balance between highs and lows.
These factors point to the desirability of a variable atten-
uator in the high frequency channel, which has been
provided in this system in the form of a rheostat fastened
to the terminal plate on the back panel. With no atten-
uation, the level of the high frequency output will be a=
bout 4 db higher than the low frequency output.

Crossover: As the two speakers are designed to comple=
ment each other, a simple "bridging" circuit performs the
cross-over function very satisfactorily. A paper capacitor
is supplied for this purpose.

SPECIFICATIONS

Frequency Response: (Measured in anechoic chamber,
2ft. away on principal axis):

Woofer: +4db maximum variation 80 to 1800 cycles

Tweeter: +2db maximum variation 2800 to 10,000
cycles,

Crossover Region: 1800 to 2800 cycles; 4 db gradual rise

when the tweeter level control is set
to minimum attenuation.

(Note: The frequency response of the system is stated in
the above manner to provide an adequate criterion for
judging smoothness, which we believe has been achieved

to an exceptional degree in this system.)

Impedance: 8 ohms

Power Handling Capacity: 25 watts

Dimensions: 23" wide, 11" high, 9" deep

Weight: 19 1bs.

USE OF TWEETER LEVEL CONTROL

Insert a small screwdriver through the hole in the metal
plateon theback panel into theslot in the control rotor.
Turning clockwise will increase the resistance in series
with the horn tweeter (to a maximum of 15 ohms) to re-
duce the level of the high frequencies relative to the low
frequencies produced by cone woofer; turning counter-
clogckwise will decrease the resistance in series with the
horn tweeter (to a zero minimum) to increase the level
of the high frequencies relative to the low frequencies.
Bare rooms (highly reflective) will tend to emphasize the
highs, while rooms heavily furnished with carpeting and
drapes (little reflection) will tend to damp the highs.
The tweeter control should be adjusted until the highs
seem natural (neither over-emphasized nor under~empha=
sized). This should be a one~time adjustment, which
may be altered when changing the specker location or
the room furnishings. The amplifier tone controls should
be used for adjustment of tonal balance with varying pro-
gram material .

CONNECTION TO AMPLIFIER

Connect the speaker system input terminals to the 8 ohm
output terminals of the amplifier. Plastic=covered lamp
cord may be used for distances up to 50 ft. with little
power loss. For shorter distances, tv antenna lead can
be used, particularly if it desired to run the speaker lead
under a rug.

REPLACEMENT PARTS LIST

19014 pot., 15Q (level control)
20501 cap., 2mfd, 150V

40000 nut, #6=32 hex

40008 nut, #8-32 hex

41000 screw, #6-32 X 1/4
41042  screw, wood #7 X 7/8 cs 1
41043  screw, wood ¥4 X 3/8

42002  lockwasher, #6

42008 lockwasher, 8

42032  washer, #8 flat

43000 lug, #6 ground

54513  terminal board, 2P

55003  speaker, woofer, Jensen P8RS
55004  spedker, tweeter, Jensen RP103
81096  metal plate

88035 cabinet

88036  rear panel

—

—_ et o — L OO WONDMO D ——



Fig. 1



QIvod
TVYNIWYIL

TOJINOD
1IATT

,../
v v N
h N

*SM3IOS pUD S}NU X8Y PUD SIBYSDMD0|
|jows omy Buisn ‘ayo|d |pjow By U piDOQ |DUIWLBY BY} JUNOW °Z ‘B4 () "G

*31 woiy Aomo joay onp
-uo2 A|24onbapp o} DaID WNWILIW UID4ISD §O [aupd [D4BW D UO pajunow Buiaq syl
uo juabuijuod si [o14uod siy} jo Bulyps yom g ayy ‘ayp|d |pjow BYy woly |ojuod
ay} uo sqoy Buljunow ay} aypjnsul o} jdwdYD JOU O “UMOYS SD SMIIDS ||DWS
OM} puD sinu xay ||pws om} pup ‘Bn| sap|os auo ‘1aysom>oo| ||ows suo Buisn
‘a4p|d o|NBUDyDaI BY} UC |OLUOD [9AS| Ja4eam} By} junow g “Big () ¥

31V1d TVLIWNO TOILNOD TIAITANY QIVOE TYNIWEIL 4O ONILNNOW

*aAoqD
paqi4osap so synu xay ab1p| xis pup ‘si1ayspmo0| 85ip| xis ‘s1oyspmip |y o6ip| xis
ystmaop|d uj sa>pads ay} Usyso “UMOYS sD s|pulwWId} dy} Buljualio ‘4no-ynd Ipj
-nBupyoas Y4 punoip spnys xis ay4 uo Jadpads uloy ayy yunow | “Biy () ¢

*awpJy Jodpads ayy Buids [[1m nok uo A|aAlssadxa spnu ayy uayyby
jou oq “youaim o 1o (a}1julds) JSALIP §nU D Y4Im synu ayi uayybi] .5?0 1oy}
ul ‘pnys Bulgunow yoosd uo jnu xay abip| pup ‘iaysomoo| abup| ‘saysom b4
abip| b 90D|d ‘U0 8y} Butingound Jo Buibowop spnys Buljunow ayy ut jjnsaul

uoo alay Buj|pupy ssa|aio)  “sajoy Buyjunow ayy yBnouyy ssod spnys sy 4oy} os
loyjpads ayy Jamo| A|juas) “Buimpip 8y} Ul SD PaypIO| 81D S|PUWLISY dY4 PUD SPNYS
Buiyoslord inoy ayy 19A0 A|[4oalip aip sajoy Bujunow ayy 4pyy os 41 Buiyusiio
§no-4nd ID|NDIID BY} 19AC Jodpads auod By Jajuad Ajnyaup) t| By ( ) ¢

‘Bupiim |ouly ayy
Ul §|nsal [|Im JO11d sNoLds 1o Bulpoo-iojoo sy} pioBaisip jou oq ‘g |Pulwidy
1a>pads uloy of poa| yop|q (p !| |pujwiay sadpads uloy oy ppa| mo||af (2
!z |pulwisy Jodpads auod of poa| pas (q | |pujwiey Jaxpads suod of poa|
u9a1B (D :SMO| |0} SO |DUIWLIdY YODB O PAYODL4D 3 Of S Y21YM poa| o 10|02 ay} Buj
~A195q0 A||nga102 / |puiwiay 13>pads ayplidosddp ayy of spoa| 4no-aid 1noyayy jo
YoDa J9p|Os pub josuuoy) *BuimDIp By} Ul UMOYS siaquinu Sy} Aq S|PUIWLIB} By}
Ayrpuapy Aj1adoid oy | *Big ul umoys so siexpads ayy yusiO | By () °|

S¥IAVILS IHL ONILINNOW ANV ONIAIM

*uospau Aup 104 jutol D 1ap|osal o} AIDSSOBU Si I 41 JOp|OS Ysauy asM
*sjusuodwod BuiBowpop pup BulypaysoA0 p1OAD 0} §03Y |D404 Jo wnwiulw o Bulsn
"A321nb uoyypiado Buyepjos ayy wioysad ‘|pisusb u| *Aaib pup payiid aq |[1m
jurol ,uisos, o A1oyopysyypsun uo !Aulys pup yjoows aq |[1m ‘00D uaym ‘juiol
pooB v *jj0 pauing usaq soy xn|jay4 joys Buyooipul ‘ adows, of s3sDaD 41 |14
-un 1aBuo| spuooas may o jutol ay} ysuipbo uoll By} pjoy pup JOp|OS Y4 SACWA
‘Jutol sy} 19A0 A|904y Buimo|y I 19p|OS Y4 USYA\ “SpOW 8q O} S| LUOI§IIULOD
poobB b 41 j|as4t juto] dn-pajoayays Aq pajjow aq 18p|0s Y4 oYY [pl4uassa si 41
aouls “A|4oa11p uoil ayy 4suiobo Japjos ay4 9op|d jou op inq ‘julol ay} oy sapjos
ay4 pup uodl joy oy} A|ddy “Bps uba|o D yjim yjo 1apjos sseoxe Buidim uayy
pup ‘diy sy} 1aAo 1op|Os 8100-ujsos dwos Bulyjaw ‘ 9|pds, 9AlIssadxa jjo Buy
~pups 1o Buiddiyo Aq Buisn a1ojeq uol) 19p|OSOY4 Ul] ‘UOI§DO8UUOD |DIIUDYOSW
poob o jo uipyiao a3pw ‘Buliap|osaiojag *sjusuodwod o} aBowpp snoytas asnoo
UDD XN|} PIOD 8duls ‘XN|j PIOD JO 19P|OS 8400 PIOD SN SIOUDYSWINDIID OU Iap

=un "ATNO ¥3d70S OIavy FHOD NISOY 3SN *SILON NOILDNILSNOD

*sjuawalsinbal pup saysoy
|PNpiAIpUl Aq paulwiaiap aq ||Im 4aulqod ayy jo Buiystuly ayp *deys yooe uj
A||po1j10ads o} patsayal swpibolp |plioyold Aq pauipdwooop sjyoa1ym ‘papiaosd
usaq sy ainpadosd days-Aq-deys \y "Jap|os olpps 8100-ulsol awos pup ‘adAy
Aup jo uoij Bupsep|os D ‘youaim a|qpysnlpo ||pws 1o o}i4ulds D ‘SISALIPMIIDS
||pws pup wnipaw aiinbas ||1m noAk ‘sjooy 1oy sy *paplaoid aup sauim papod
-10]02 “4no-aid s [|om sD aipmpioy paiinbas || pup ‘! A1pssadau s) 4i0s Aup
jo Buiiompoom so ‘Buin|B ‘Bul||lip ON ‘pipoq |puluay pup ‘|OLUOD [9A3)
1a}29m} “104100dpD Bulbpiiq “siaxpads sy} jo Buliim ajdwys ayy a4a|dwod o} pup
A%moa._na S1y} Joj pa||p4sul usaq aApy spnys Bujunow) siaxpads ayy junow o4 s|
auop aq paau by} ||o ‘pa|quassp A|a4o|dwod pat|ddns s1 youiqpo sadpads ayy sy

ATEWISSY WILSAS IHL ONILITdWOD



v 614
\\\\\\\

TOYINOD
REVER

Q¥vosd
TYNIWYIL

f___
il :
11l

\ __:::5
\\\\\\\\\\\\\\\\\\\\\




1V1dW3l

*SMa.10s poom abB.ID| aA[aM} Y} Yiim aop|d
ul 41 Bujuayspy pup sjpa|d ay jsujobo uj }1 Bulko| Aq [aupd >opq ayi ||oisu]
g *B14 urumoys si [aund 3opq ayy jo uolypjusiio sadoxd ay) ‘g Big () °zI

1INV A0VE IHL ONITIVISNI

*Bupiim sy seje|dwoo sjyj  “ppa| ssa0xo
Aup ji0 Wi1] *UO}§O8UUOD By} Jap|os pup spoa| yjoq dwpio uay} !pipoq |pujuiay
8y} §o | |pujuudy of Jodpads suod 8y} jO | |PUIULISY woly pDa| usalb sy} pud
1e>pads uloy ayj jo | [pujuLdy woly pod| mo| |8k ayy yjoq4oeuuo) By () ||

*jutod siyy 4o oyp|d
|pjow ayy o4 poa| ayy Jo Bn| |pujuLIdy By} USSMIS] 4I0YS OU S| 319y} {DY} ains ag
‘pp@| ss90x@ AuD jjowi] °UOI}DOUUOD BYy Jop|os pup poa| ay} dwiid usyy ‘6n)
[puluwiay siy} of Jodpads uIoy BY4 JO Z |PUIWISY WOJ) P3| XOD|q SY4 $23UU0D)
*sissoyo ayy woiy Aomp Bn| |pujuuisy |ouod [9As| By} pusg ‘p *Big () ‘0l

*pP3| ss9oxa

Aup yjo w1 *pIDOQ |PUIWISY Sy} JO 7 |DUJULID} JOP|OS puD pa|[p4sul A|snoJA
-a1d poa| Jo41o0dpo ay4 pup pps| siyj dwid) “piDoOg [PUWLIDY Y4 JO 7 [PUIWLSY
o} Ja3jpads 2UOD By} JO 7 [PUIWIS WOLY POB| pal By} 4o8uuo) ‘§ ‘Biy () ‘¢

*days yxau ayj u] paisp|Os aq ||IM PD3| 19Y40 BY| °pod| $589X8 AUD
Wil °|O4u0d |3A3| Y4 yo qpy Buyjunow ayy sepun Bn| sap|os ayj o} Bujob poa|
ay4 sap|os puo dwis) “a|iqoww) p|ay aq [|1m 1o03}opdpd ayy 4pyy os sBn| yjoq
ybnouy} spoa| sy} moip pup a4o|d ayy ysupBo to41o0doo By ysng *pipoq |pujw
-18} By} JO Z [PUJWLIS} PUD [OLJUOD [3AB| By} UO sqo} Buljunow sy} jo suo Japun
Bn| sop|os ayy usamyaq Jojjopdoo sedod pywz ayy 4oeuuo) y Biy () ‘g

*BujMpip ayj uj umoys so pauoljls
-od ‘@2p4Ins o|y 0 uo |aupd 3opq By} pup jaulqpD By 8ddld ‘y By () ‘£

ONIYIM TVNIAL

*|eund ayj jo ap|s Joliajul Ay} uo aq ysnw
pipoq |puiwiay ayy jo sBn| 19p|os sy} pup [OUOD [9AS| Sy} 4Dy} BjON “sjutod
paxow ayy 4o paop|d smaios poom |[pws 4yB1e sy} yiim [aund 3opq ayy uo ayp|d
|[pjow ayy junow “sejoy Buijunow 4ybBle ey} jo suolypoo| ayy o |ound ayy dow
pup ajo|dway sy} 2191d Of |IDU JO [MD UD SN PUD JNO=4ND SY} IOAC SID4INS IPIS
-u} 8y} ysuipbo papiaoid ayp|dwaey tedod sy} Ap| ‘os suop BujAoy *|eupd >opq
3y} jo 2oD4INS BPIsUl dY} S Ydlym sujuaiep of ¢ *Bi4 oy sagey g By () 9

TINVd ADVvE NO 31V1d TVIIW 4O ONILNNOW



